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Instructional Packet # b e

Adding and Subtracting Rational Expressions with.
Like Denominators

1. Watch the instructional video that | have
created. It should be in a message in
Livegrades.

2. Complete the problems that are at the end of
the video.

neised—
3. Search for the topic and find another video that
provides instruction and/or examples. Watch
that video.

4. Message me with questions.
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"What Might You Say About a Purple Plaid
Shirt With Pink, Orange and Green Stripes?

1;1"‘

Slmpllfy the expression, then find your answer. Write the letter of the oL

answer In each box with the exercise number. If the answer has 2 .. W\
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Algebra 2 Name pClC_%f"\- i 2—5

Rational Expression Review
Simplify each and state the excluded values.

5n° —15n° 7 —14r + 49
1) ————— ) —— 5
2n—6 8r” — 56r
Simplify each expression.
3 x*+5x-50 x+8 % 8m® +40m*> 2m+2
10x—50 7x+56 4m + 20 8m?
a+2a-80 a*>-10a+16 K -9 +20 k*—10k+24
3) Formy 6) .
6a + 60 10a? — 20a B +2k—63 K —13k+42
r+6 6 x—4 2x-3

+ 2 +3
25r+ 15  25r+ 15 x*-2x—8 x*-2x—-8
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Algebra 2 Name
Rational Expressions Assessment
Simplify each expression. |
1 m’ + 11m + 30 , 2 x% +7x-30
dm® + 24m* x* + 14x + 40
3) Y +5v-36 v:+19v+90 5 6x% — 48x x+9
v+10  v?+18v+8l1 P —=11x+24 x> +10x+9
5 27a _a*+1la+24 6 =9 2l
a+6 & +9a+18 *-8%—-9 x*-T7x—8
7 x+4y+5x-5y %) 6v—6 3 v+3

10x 10x Sv+20 5v+20



Packet #27.

Name : Date

To determine whether a value is a solution of an equation, substitute the value into the equation

and simplify.
Example 1 Determine whether () x= 1 or (b) x= —2is a solution of 5x — 1 = 4.
a S5x—-1=-2x+6 b. 5cx—1=-2x+6
5(—1 2 —2(1)+6 Substitute. 5(—-2) -1 2 -2-2)+6 Substitute.
s=4 Simplify. -11#10 X Simplify.
B So,x = lisasolution. | B So,x= —2is ot a solution.

To solve a linear equation, isolate the variable.

Example 2 Solve each eguation. Check your solution.

a. 4x—3=13 b 2y—8=y+6
4x~-3+3=13+3 Add 3. 2y—16=y+6 Distributive Property
4x = 16 Simpfify. 2y—y—16=y—y+6  Subtracty.
%f’“"lag Divide by 4. ’ y—16=6 Simplify.
y—16+16=6+ 16 Add 16.
x=4 Simplify.

y=22 Simplify.

Practice ©¥EN problemg on| 3 Check your answers af BigideasMath.com.
Determine whether (a) x = -1 or (b) x = 3 is a solution of the equation.
L 5+7=2 2. —4x+8=-4 3. 2r—1=3x—4

Solve the equation. Check your solutic;n.

4 x-9=24 5. n+14=0 6. —16 =4y

7. —gt=-15 8 81=46—x 9. dx+5=1
10, x+5=11x M. %y —3) =45 12, 6=Tk+8—k

13. 6n+3=—4n+7 14, 2 +5=3(c~8) 15, 18m +3Q2m +8) =0
16, 20 1. BrEoq 1 853

19. Br+6)+W@r—1)=14 20. y—-3=9 : 21 p-d=3x+5

22. MONEY You have a total of $3.25 in change made up of 25 pennies, 6 nickels, 2 dimes, and
x quarters. How many quarters do you have?




Po ket #28

Date
An equation that has two or more variables is called a . To rewrite a literal equation,
solve for one variable in terms of the other variable(s).
Example 1 Solve each literal equation for y.
a. 3x+ S5y=45 b. 2op+5=7
3x—3x+5r=45—3x Subtract 3x from each side. v(2x +5)=7 Distributive Property
5y =45—3x Simplify. yx+5__ 7 i y L5
3. 43 3 Divide each side by 5. == 21;-5 D.Wﬂfmﬂdebvh 5
5 53 PR Simplify.
y=9- &= Simplify. =

158 'Iherewﬁuen]iﬁcralequationisy=2x+ 5
3 ‘I'hcrewritlﬂulilﬂralequationisy=9—%x.

T 2.x=3+-v
}I
Zx-}-=3—;'-35-y Multiply each side by y.
Zy=3+y Simplify.
xy—y=3+y—y Subtract y from each side.
&y —y=3 Simplify.
y2x—-1)=3 Distributive Property
y2x—-1) _ 3 " L _
e sy Divide each side by 2x — 1.
yv= 3 Simplify.
= el
B 'Iherewtit’seulitem!equatiunis;a=zx3_'_ 3
r L)
Practice Check your answers at BigideasMath.com.
Solve the literal equation for y.
1. x+3y=9 2. x—2=16 3. &+ Ty=5
4. 2x+3y =6 B. Sx—4y=10 6. x—2y=8
7. 2xy— 6 =8x 8. r=9y+xy 9, 4yz =3y —8x
10, 2xy = 3z + dy 1, 2R, 93, Ap =2t

}f
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Name Date

Addition Property of Inequality Subtraction Property of Inequality

When you add the same number to each side of an When you subtract the same number from each
inequality, the inequality remains true. side of an inequality, the mequality remains true.
Multiplication and Division Properties Multiplication and Division Properties
of Inequality (Case 1) of Inequality (Case 2)

When you multiply or divide each side of an inequality When you multiply or divide each side of an inequality by
by the same positive number, the inequality remains true.  the same negarive number, the direction of the inequality
symbol must be reversed for the inequality to remain true.

To solve an inequality, isolate the variable.
Example 1 Solve each inequality. Graph the solution.

—1 —1 = Sublract1 from eachside. -_3'x , 9 Divide eachside by 3.
x> 2 Simplify. =3 -3 Reverse the inequality symbol.

xz -3 Simplify.

[ 3 The solution is x> 2.
= The solution is x > —3.

Use an npen cu'cle hemusex 2 is not a so!ution ,
T S T e e Useadosedarde becausex-z -—3 isasnlutiun

¢ —2529+2 d. ~§+5> 10
-2 -2  Subtract2 from each side. wf Subtract 6 from each side.
—2729 Simplify. g
55 9’; P —%:»4 Simplify.
e S Divide each side by 9. ultiply ; _
S o ' _% *(-A<4-(=2) hRdeverseﬁe::?m:y 52' bol
—32y Simplify. | nequality symbol.
' 1<—8 Simplify.

[ 'I‘hesolutlonmy < —3

Use ah e ‘The soluti -8,
Useadosedcsrdehecausey —3 tsasolutmn : > solution is 2 <

Use an open tircle because z= —-8 is not a suluuon

-
Practice Check your answers at BigldeasMath.com.
Solve the inequality. Graph the solution.

1. x+2>7 2. y—5<—8 3.-_‘-3:-—1
. 2s L
4 =<6 5. —2g+1215 6. 3z—4<—1
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Name Date

is an inequality formed by joining two inegualities with the word “and” or the word “or.”
Example 1 Write each sentence as an inequality. Graph each inequality.

a. A number x is greater than —8 and less than or equal to 4.
b. A number y is at most 0 or at least 2.

. F L 4
" "

B Aninequalityis —8 < x < 4.

e eeteedeeny—{—>-  Graph the intersection of the
-0-8-6-4-2 0 2 4 6 graphs of x> —8and x < 4.
b. 4 (R, [
B Aninequalityisy SOory 2 2.
<y —Peffeeft=p-  Graph the union of the
-2-t 0 1 2 3 4 5 B graphsofy < Oandy = 2.

You can solve a compound inequality by solving two inequalities separately. When a compound inequality with “and”
is written as a single inequality, you can solve the inequality by performing the same operation on each expression.

Example 2 Solve —4 <x — 2 < 3. Graph the solution.
Separate the compound inequality into two inequalities, then solve.

4 e x—2 and xr—2< 3 Write two inequalities.
£2 ¥2 =2 *2 Add 2 to each side.
—2<x and i s Simplify.
B Thesolutionis —2 <x <5  ~tt—Gp——f—t—t—t—tp>
-2-2-1 0 1 2 3 4 5
r L]
Practice Check your answers at BigldeasMath.com.

Write the sentence as an inequality. Graph the inequality.
1. A number d is more than 0 and less than 10.
2. A pumber a is fewer than —6 or no less than —3.

Solve the inequality. Graph the solution.
3.5<m+4<10 4 —3<2%k—-5<7

5. dc+3< —Sorc—8> -1 _ 6. p+1<-Tor3-2p=—1




(ab)™ = a"b"
Find the power of each factor.

: , = Bﬁl __.. S gl

a " "a¥0

a
@ (i;
Subtract exponents, Find the power of the numerator
and the power of the denominator.

Example 1 Evaluate (a) 4.8° and (b} (—3)"%.

a 49°=1 Definition of zero exponent b (—3)™*= # Definition of negative exponent
1
3 Evaluate power.

Example 2 Simplify each expression. Write your answer using only positive exponents.

a P.2t=2"=128 h.~:§=59"‘=5?=115
125° ' 6,2 5+2 J
, ——=1 '°7=12x7 d.x = =x8 5=x3
meE e R
e. Y ="2=d £ (6mn) =6 «m® «1° = 216m°n°
4 -2
e ¥y _ ¥ 10 _10 g-n-2-1_opa-3_ 20
e (3) # 8l sy il By )
r-_ -
Practice E\IEN mb\QW\S o Check your answers at BigldeasMath.comne.
Evaluate the expression. -
1. (~9)° 2. &1 3. 473 2. =%
3‘-2

Simplify the exprassion. Wrgge your answer using only positive expone;nts.
1

§ -6 AU oS X
5. 27.2 6. " 7. y-y 8. =
—2
9. =5 ex Mot 10. % 1. @d 12. @)
5z
8 =y
13. 37 - (—20)* 14, (—5mn , - 16. —
7 2eg? 5
3 4\-2 —2 . ’
17. (3]3 1. E) 19, 2 o D
2 S5y x4y-3 ﬁrsyz_z

21. METRIC SYSTEM There are 10° micrometers in a meter and 10° meters in a kilometer.
How many micrometers are there in 10° kilometers?




